5516 % 25 1 44 Vol.16 No.1
1999 £ 3 H Journal of East China Jiaotong University Mar. 1999

X EHE . 1005-0523( 1999) 01-0072-06

B awiFamet e F o, =6 WL SR

(% ARBRF AR, IH &g 330013

BE. 28T 52 an Ter T tax,. b WEESEF BTN m.b Aoy ?/L‘_’]‘ﬁ'ﬁfiéﬁﬁg(m
x B . ARFAEE S
FES%ES: 0 157.1 SCERFRIRAD: A

VF 2 SBR[ R AT A 45 5K 7 R
avt T ax: Tt aw,. =b a>0, =12 mb>0 (1
A AE SORKIR, 24 o BOR( > 2) B, TR AERL SR AR a4(3)

il 1 1992 4R A [ KA A B0 AT 2R B AL

A A B A TR R A A SR, FMEAERY D TEN e e - an
W em =18, @ ~ais =57, 71,81, 97, 99, 101, 103, 113, 114, 115, 128, 129, 131, 137, 147, 156,
163, 1860184 22 K —K [ 4> T8 b( <<1000) , B B AR mZS B 1 R I A Al RELL, BV AT A
SE R A TR IR LR R R AL LA e A R SRR A B A (19)

XA RS R ZER T RE( L) (m=18,5=1 000) 0 BT IEFUREEUR, STIR[ 1] R 25, %4 b=
1000 B i 5 fif i AN 02 28 268, 1SRt [a) & 8105, 24 p EAERE I 100 B, fif 6 55, B[R] 13
sk 3 4519

il 2 H—ToE AEFE E 2Rk R ESR TR S0k + 20x2 + 10y + 5xa + 2y
+ o = 100 f i A J5 S Km03)

— PR, XX S, 4 AR AN e ASEI B, BEAR AN (] A 75 AR A8)

A T RZIO R ARER, RBERN mo b (051w 1< <26) 5k
AT R L) B BT SRR SINT T 2R BRI, 24 5= 1 000 i, LB 6 Bhighsk it i fy 28
268 AMi( 486DLC HEH) (13

EX D e B B v xes e  FIBTE R — AR B RBEIT T —IK
R

EX 2 MR a~ar, =12 m— L IFRDTRER R0 T 4 1H08)

EN3 ME a=ar, =12 m— L R RERY 200 2 7 4 H18)
FATLAKAR TR

WoFE B #A.1998-07-03
Eﬁ%léﬁ ﬁ : ‘ilﬁﬁé‘ [ SRR 4 VR B
P s AR VA SR R R st s e s s 09



%13 A 7 ax taxet - taxa=b WEEELS

73

axt Taxz oo T, =0 =57, @2=71,3=81,5=1 000
A e PR Bk
Fﬁﬁ‘%*ﬂﬂnm BASIC h:tl:t ﬁﬁﬂéﬁ*f ZlDT

maxx 1 =56 1 maxx 1= 17=1000\57,
maxx 2=b \12: 'maxx2=1000\71:
maxx 3=b % 3: maxx 3=12=1 00081

FOR x 1=0T0O maxx 1
FOR x2=0TO0O maxx 2
FOR x3=0TO maxx3
IF gl *x1+g2% 42+ 43%,3=1 000 THEN
K=K *t1
PRIT x Lix2;x3;K
NEXT «3
NEXT x2
NEXT «1
Lo 2 0 o3 73 I ATEL 18, 15 F 13 AME, TR T 18X 15X 13=3 510 iz H
R ot an
FOR x1=0T0O maxx 1
FOR x2=0TO maxx 2
b2=b— al*x1Fqa2*x2
if 52 mod @3=0 and 52> =0 then
x3=b2/a3
K=K *t1
PRIT »Lix2;x3:K
end if
NEXT «x2
NEXTxl
THENL H#FT 18X 156=270 iz
ﬁ/ln“*}f” Brera NN
FOR x1=0T0O maxx 1
bl=p—al*x1
TR K K K X K X
maxx 2=51 %2
FOR x2=0TO maxx2
b2=b—al¥x2
if 52 mod a3=0 then
B3 =523
K=K t1
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PRINT x Lix2;x3;K
end if
NEXT «2
xxl: NEXT w1l
TR Z T 141 Yj(il%m)i;%lij, x1=0m,x 2 A0, 1, e, 14 31 15 M
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100 ¥k, B
< LBy 0O 1 2 3 4 5 6 7 8 9 10 11 12
x 2 AT BUEAN B 15 13 12 11 10 9 8 7 5 4 3 2 1
o2 BUEN RS T 100
FI8F 57 5 81 By KA NEGE 3, tn okt 24 HE
al =71, @2=281, 3= 57(13)
M LG b—al*x LRI 3 BOAEAC, BRIt AE O— 14 14=p/5 1) 3 15 b, o 1 HAERR 2,
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DIM a( 30) ,x( 30y, 5( 30



%13 A4 A ax taxt - taxa=b WHEEERLS

75

solve equation alx 1t a2y 2+ tamam=0b
INPUT “input m"»m
INPUT "“input "5
FORi=1Tom
INPUT “input al To am": a(i)
PRINT “a("3i:") ="a(i)
NEXT i
t1$ =TIME $
mx 1:b/ot( 1)
FOR x1=0To mal: x( 1) =x L:b( 1) =b—a( 1) *x:max2=b(1) W(2
IF m=2THEN GOSUB 1000, coTO 1
FOR x2=0TO ma2:x(2) =x2:5(2) =b( 1) —a(2) *x2:mx3=b(2) (3
IF m=3 THEN GOSUB 1 000,GOTO 2
FOR x3=0TO ma3:x(3) =x3:5(3) =b(2) —a(3) *x3:mat=b(3) (4
IF m=4 THEN GOSUB 1 000.G0oTO 3
FOR x4=0TO0 mad:x(4 =xd:6(4) =b(3) —a(h *xd:ma5=b( 4 (5
IF m=5THEN GOSUB 1 000.GOTO 4
FOR x5=0TO ma5:x(5 =x5:5(5 =b(4) —a(5) *x5:mx6=5(5) ‘(b
IF m=6 THEN GOSUB 1 000,GOTO 5
FOR x6=0TO max6:x(6) =x6:5(6) =b(5) —a(6) *x6:mx7=b(6) (7
IF m=7 THEN GOSUB 1 000,GOTO 6
FOR x"=0TO maxT:x(7) =xT56(7) =b(6) —a(7) *x7
IF m=8 THEN GOSUB 1000.GOTO 7
mx 8=b( 7) \u( 8)
FOR x8=0TO ma8:x(8) =x8;6(8 =b(7) —a(8) *x8
IF m=8 THEN GOSUB 1 000.GOTO 7
mx 8=b( 7) \a( 9)
FOR x9=0TO0 mx9:x(9) =x956(9) =b(8) —a(9) *x9
IF m=9 THEN GOSUB 1000.GOTO 8
ma 10=p( 9) \( 10)
FOR x 10=0T0 mx 10,5 ( 10) =5 10;4( 10) =p( 9) —g( 10) *x 10
IF m =11 THEN GOSUB 1 000.GoTO 10
max 11=p( 10) \g( 11
FOR x 11=0T0 ma 11:x( 1) =x 115 11) =p( 10) —g( 11) * 411
IF m =12 THEN GOSUB 1 000.GoTO 11
ma 12=p( 11) Yy( 12)
FOR &4 250 T O 125 (12) =x 12;5(12) =p( 11) —q( 12) * 5 12
IF m=13THEN GOSUB 1 000.G0TO 12
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ma 13=p( 11) \g( 13)

FOR x 13=0T0 ma 13:x(13) =x 13;5( 13) =p( 12
IF m=14 THEN GOSUB 1 000;G0TO 13
ma 14=p( 13) Yy( 14)

FOR x 14=0T0 ma 14:x( 14) =x 1455( 14) =p( 6)
IF m» =15 THEN GOSUB 1 000,GoTO 14
ma 15=p( 14) \g( 15)

FOR x 1o=0T0 mx 15:x( 15 =x 15;5( 15) =p( 14
IF m=16 THEN GOSUB 1 000.G0TO 15
ma 16=p( 15) Yy 16)

FOR x 16=0T0 mx 16,x( 16) =x16;4( 16) =p( 15) —
IF m=17 THEN GOSUB 1 000.GOoTO 16
ma 17=p( 16) \g( 17)

FOR x 17=0T0 mx 17.x(17) =x 17;5( 17) =p( 16)
IF m=18 THEN GOSUB 1 000.GoTO 17
ma 18=p( 17) Yy 18)

FOR x 18=0T0 mx 18;x( 18) =x 18;4( 18) =p( 17) —
IF m =19 THEN GOSUB 1 000,GOoTO 18
max 19=p( 18) \g( 19)

FOR x19=0T0 ma 19:x(19) =x19:5( 19) =p( 18
IF m=20 THEN GOSUB 1 000.GoTO 19
ma 20=p( 19) \g( 20)

FOR x20=0T0 mx20,x( 20) =x20;p4( 20) =p( 19) —
IF m=21 THEN GOSUB 1 000,GOoTO 20
ma 21=5( 19) \g( 20)

FOR x21=0T0 mx2Ll.x(21) =x21;5( 21) =p( 20)
IF m=22 THEN GOSUB 1 000.G0oTO 21
ma 22=p( 21) \y( 22)

FOR x22=0T0 mx22:x(22) =x22;b( 22) =p( 21) —
IF m =23 THEN GOSUB 1 000.GOTO 22
max 23=b( 22) \g( 23)

FOR x23=0TO0 mx23.x(23) =x23;b( 23) =p( 22
IF m=24 THEN GOSUB 1 000.GOTO 23
ma 24=b( 23) Y( 24)

FOR x24=0T0 mx24:x( 24) =x24;6( 24) =p( 23) —
IF m =25 THEN GOSUB 1 000,GOoTO 24
m 25 7hERY) W(:25)

—a(13) ¥4 13

—a( 15 *x15

a( 16) * 5 16

—a(17) *x 17

a( 18) * 518

—a(19) *¥x19

a( 20)

a( 22)

~af 23)

a( 24)

%521

% ¢ 22

% 5 23

% ¢ 24
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ZANEXT : 23 NEXT
22 NEXT : 21 NEXT
20 NEXT : 19 NEXT
I8 NEXT : 17 NEXT
16 NEXT ; 15 NEXT
14 NEXT ; 13 NEXT
12 NEXT : 11 NEXT
10 NEXT ; 9 NEXT
8 NEXT : 7" NEXT
6 NEXT : 5 NEXT
4 NEXT : 3 NEXT
2 NEXT : L NEXT
PRINT start time=  t1$ “end time= " TIME $; Solve= " k
END

1000 1F b(m—1) MOD a(m) <>0THEN RETURN
x(m) =b(m= 1) W(m); k=kT1
IF £ MOD 2000=1THEN
FOR 1=1TO m; PRINT x(1); :NEXT; PRINT %
END IF
RETURN
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The Algorithm and Programming of Linear Equation

ZHOU Shang—chao

(Basic Courses Department, East China Jiaotong University, Nanchang 330013, China)

Abstract: This paper gave the algorithm and programming of linear eqution: aix1 *azaz -+

AmX m = b .
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